
1. çÕýçÅUàæ ÖæÚUÌ ·ð¤ ¥æçÍü·¤ §çÌãUæâ ·ð¤ Âý×é¹ âýæðÌô´
·¤æ ß‡æüÙ ·¤èçÁ°Ð

Describe the main sources of Economic
History of British India.
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ÙôÅU Ñ ç·¤‹ãUè Âæ¡¿ ÂýàÙæð´ ·ð¤ ©UîæÚU ÎèçÁ°Ð âÖè ÂýàÙæð´ ·ð¤
¥¢·¤ â×æÙ ãñ´UÐ

Note : Answer any five questions. All questions carry
equal marks.
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2. ÒÒçÕýçÅUàæ ÖæÚUÌèØ ·¤æÜ ÖæÚUÌèØ ¥Íü ·ð¤ àææðá‡æ ·¤æ
·¤æÜ ÍæÐÓÓ çâh ·¤èçÁ°Ð

“The British Indian period is a period of the
Indian economic exploitation.” Prove it.

3. ¥¢»ýðÁæð ´ mïæÚUæ ÖæÚUÌ âð ÏÙ çÙc·¤æâÙ ·¤è Âýç·ý¤Øæ ·¤æ
çßàÜðá‡æ ·¤èçÁ°Ð

Analyse the process of drain of wealth from
India by Britishers.

4. SÍæØè Õ‹ÎæðÕSÌ ·ðï¤ »é‡æ-Îæðáæð ¢ ·¤æ ß‡æüÙ ·¤èçÁ°Ð

Describe the merits and demerits of
Permanent Settlement.

5. ÚðUÜßð ·¤æ ÖæÚUÌèØ ¥ÍüÃØßSÍæ ÂÚU ÂýÖæßæð´ ·¤æ ß‡æüÙ
·¤èçÁ°Ð

Describe the effects of Railway on the Indian
economy.

6. çÕýçÅUàæ àææâÙ ·¤è ÃØæÂæÚU ¥æñÚU ïßæç‡æ…Ø ÙèçÌ ·¤è
ÃØæBØæ ·¤èçÁ°Ð

Explain the trade and commerce policy of
British Rule.

7. ãUSÌ-çàæËÂ ©Ulæð» ·ð¤ ÂýçÌ çÕýçÅUàæ àææâÙ ·¤è ÙèçÌ
·¤è ÃØæBØæ ·¤èçÁ°Ð

Explain the policy of British Government
towards the Handicraft industries.
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8. ÖæÚUÌ ×ð´ ¥æÏéçÙ·¤ ©Ulæð»æð´ ·ð¤ çß·¤æâ ·¤æ ß‡æüÙ
·¤èçÁ°Ð

Describe the development of modern
industries in India.

9. ÚUæcÅþUèØ ¥æØ âð ¥æÂ @Øæ â×ÛæÌð ãñ´U? ¥æ¢‚Ü-
ÖæÚUÌèØ ·¤æÜ ×ð´ §âð ·ñ¤âð Üæ»ê ç·¤Øæ »Øæ Íæ?

What do you understand by National Income ?
In which way it was introduced in British-Indian
period ?

10. çÙ`ÙçÜç¹Ì ×ð´ âð ç·¤‹ãUè´ Îæð ÂÚU â¢çÿæŒÌ çÅUŒÂç‡æØæ¡
çÜç¹° Ñ

(a) Ÿæç×·¤ ¥æ‹ÎôÜÙ

(b) ÂýˆØÿæ ·¤ÚU ÃØßSÍæ

(c) çÕýçÅUàæ ÖæÚUÌ ×ð´ ×é¼ýæ °ß¢ Õñ´ç·¢¤»

(d) ÁÙâ¢BØæ â×SØæ

Write short notes on any two of the
following :
(a) Labour Movement

(b) Direct Tax System

(c) Currency and Banking in British India

(d) Population Problem
———


